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1. EEaEEE:
KEEES : 759.7mm-Hg  SERE 2306- C  HEA : 2015/10/15

BEE:  O00ORPM  EER: 50 VO OEH: 10 A ERAZHE:025 kW

ifﬁ”lﬁ %%JE—‘:Z_S PS \%E—Z_é PT %b@ PV(=PT'PS)
(mm EFE) (mm J&FE) (mm J&HE)

1 1.2V 5V 3.8V
2 1.2V 6V 4.8V
3 1.2V 6.6V 5.4V
4 1.2V 6.6V 5.4V
5 1.2V 6.6V 5.4V
6 i\ 6.6V 5.6V
7 1V 7V 6V
8 1V 7V 6V

1.125V 6.425V 5.3V
SEE{E
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2. SHEBRE

REE (p)

ﬁj

P _ 759.7x13.6x9.8 _
p= == 1.19kg/m’)
RT  287x(273+23.06)

JEVE NS H JEVE (V)
2gAh 2%x9.8x5.3x0.826
L= |22 = V72.10 = 8.49
0 1.19
JE &

s
Q=AV;-60 ZZX 0.32 X 8.49 x 60 = 35.99

ERERZE R @)

; P;Q 1125><0826><98><3599_546X10_3(KW)
T =60 x 1000 60 x 1000 '

KA BRZE R )

; P.Q 6425><0826><98><3599_0031KW

S~ 60 x 1000 60 x 1000 031(kW)

Ly 0.031
— % 100% =~ = 0.124 = 12.4%

T 0.25

L

—LS><100(V—0'00546—002184'—22(y
Ts =7 °T 7025 T e
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3. ETHE&ER:
HH rpM | RPM | 1040RP |[RPM  |RPM  |RPM | RPM
M
SEHILERR Pr
— 6.425
(mm §HE)
SEEIRRRR Ps
. 1.125
(mm EHE)
SEENRR Py
— 53
(mm EHE)
ZEREE p 1.19
(kg/m?®)
SRR V 8.49
(m/s)
E& Q 35.99
(m¥min)
BRZEREN
Ls (kW) 0.0054
Lt (kW) 0.031
mAER (V)
50
BAER (A)
10
AT L
(kW) 0.25
ns (%) 2.2%
nr (%) 12.4%
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2. ‘EIFIEAEIREE N E Y - AR5 R S EEYE - SR EA o] B I R iEHER
REWRIEE RIS 3 Ji = B i REE R 2%/ D2
1./ P65 A AT ETE

_ 273+20, Pr/13.6+Pb
273+Td 759.7

Qsre Q

2 AHIRRR
O = 2B+ 10/136+7T 4y 4o

273+ 23.06 760
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